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What will be the sum of the first 20 odd

nslztlgral numbers ?

(A) 210

(B) 300

(C) 400

(D) 420

How' many such numbers are there
between 1 and 100, each of which is not

oﬁly completely divisible by 4 but also

contains 4 as a digit ?
(a) -7

(B) 10

(C) 20

D) 21

If the sum of two numbers is 9 and the

sum of their reciprocals is %, then those
numbers will be

(A) land8

" (B) 2and7

(C) 6and3

(D) 4and5

5’

(3-A)

The following pie?chart shows the
expenditure details of a family. If the total
expenditure on food is ¥ 4800, then how
much is the total expenditure on all the

items ?

Retail
10%
Clothes
5%

Transport
12%

(A) T 15,000

(B) ¥ 16,000

(C) ¥ 17,000

(D) ¥ 18,000

- Ram spends 65% of his salarj;' and saves

¥ 5256 per month. Then - what is his
monthly income ? -

(A) T 1200 -

B) % 1500

(C) ¥ 1800

(D) ¥ 2100

https://www.pygonline.com
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(A) 32

A 3R B 1 HH MY A 5 2 4 H1 AR |
AP IR TG A4 3w W | A
&) T 1 et B 2

(A) 8ad
(B) 9=9
(C) 109€

D) 12+

et artaral & miSE T B

36, 72, 49, 45, 60, 33, 52, 61 3 72
(A) 52
(B) 60
(C) 49

M) 61

9.

10.

(4-A)

- (A)

fofafes #t 5% o ¥ ot s o
wqafeg IR :

~I|on

1,234
®) 2,4,8,1
43,21

(D) 38,4,1,2

4-369 x 4359 — 1641 x 1641 -
4-359 - 1641

AR ?
(A) 63
(B) 60
(C) 50 -

(D) 73
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The average of 4 consecutive even
numbers is 27. The largest of these

numbers will be
(A) 32
(B) 36
(C) 30

(D) 28

The present ages of A and B are in the
ratio 5 : 4. Two years ago the ratio of their
ages was 4 » 3. What is the present age of

LA?

(A) 8 years
(B) 9years
(C) 10 years

(D) 12 years

Find the median from the following data :

- 36, 72, 49, 45, 60, 33, 52, Gl,and 72

(A) 52
(B) 60

(C) 49

(D) 61

2RSP3/11/2023

10.

(5-A)

Arrange the following in descending order

of their magnitude :
. 2
- T

9, 3
4

(4 1,2,3,4

B) 2,4,3,1

4,3,2,1

t

D) 3,4,1,2,

4:359 x 4-359 — 1641 x 1641
4:359 — 1641

The value of
15 :

(A) 63

" (B) 60

(€ 50

(D) 73
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11. If the number of accidents occurring in the|13, If ‘No S is P’ is a false statement, then
middle of the road is much more than the| .0 e 1hoco ctatements.is necessarily
accidents occurring on the side of the ' -

; true ?
road, then
(A) AllSisP

(A) Make * the citizens aware .and

construct speed breakers (B) SomeSisP
(B) Organize celebrity events " (C) Some SisnotP
(C) Infer that walking in the middle of| (D) None of the above

the road is safer | |
(D) None of the above : .

14. If you find-that the question paper is too
difficult and seems to be out of the
syllabus, what will you do first ? |

: (A) Tell the examiner that questions are

12. Postponement of an event is an '

: ) out of course
: adn;inistratwe way of :
' B Copy fr thers
(A) Taking time for better preparation (B)Copy from other
®) Teachiﬁg a lesson to the populace (C) Walk out of the examination hail
(C) Both (A) and (B) (D) Try to solve the questions as muclh as
| possible
(D) None of the above
2RSP3/11/2023 (7-A)
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71,173, 79, 83, 89, 2
(A) 96.
(B) 97
(C) 98

(D) 99

afe 1§ gHT 30% T 4t R, A 20% sk gg
Wy, dgagdt

(A) 50%
(B) 42%,
(C) 44%

(D) 56%

o e P ok Wt Q % fiw i qff x Fraf, 2
IR IR Q N TR R F A A gl y feah
R, @ T P ol e R o g

(&) x+y |

B) x+yd At

- (0) x+yﬁ$ﬂ'ﬂ1lﬂﬁt

) e 3 A

18. a2 24 g, 1979 T & @ Pt

19.

(8-A)

# & Bt Ry oreEn 2 9

(A) 219, 1980

(B) 22 9@, 1980

(C) 239, 1980

(D) 24 9T, 1980

R 3 T R & ed Y A
Rl i 7am P ok Q €, 9 P, Q ¥ arfires
2, A A T gR R e da _

T |
(A) nP?
(B) nQ?
(C) nP? +2Q?

(D) P2 —nQ?

20. Tvfg & o piz S

(A) de

® W@

(C) Igfees

(D) 3w & & B T
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15. The next number in this series will be

16.

17.

2RSP3/11/2023

71,173,79, 83,89, 2

(A) 96

(B) 97

(C) 98

(D) 99

If a shop gives 30% discount and then

provides another 20% discount, then the
“total discount will be

(&) 50%
®) 42%
© 44% .

(D) 56%

If the distance between city P and city Q
is x km.and the distance between city Q
and city R is.y km, then the distance
between city P and city Ris . |

(A) x+y

(B) greater thanx+y

(C) less than or equal tox +y

(D) None of the above

(3-A)

18. If 24th July, 1979 is a Tuesday, then
~ which of the following days is a Tuesday ?

(A) 218t July, 1980
(B) 2224 July, 1980

(C) 2374 July, 1980

(D) 24th July, 1980

. If two cows are tied to a'common pole and

the“lengfh of the ropes are P and Q, where
P is greater than Q, then the total area '

grazed by both the cows will be

(A) P2

(B) nQ?

() P? +nQ?2

(D) «P% - nQ?
ﬁecision—makin_g isa process. -

(A) Cognitive

(B) Superficial

(C) Random

(D) None of the above

https:f/www.hyqonline.COm
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(A) 56683
(B) 55683

(C) 55738
(D) 56873
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25.
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27,
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(A) Iaar

(B) AR
(C) guar

(D) WIRER
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(10-A) - -
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Few names are given that -share a
common feature, except one. Choose the

odd one out.

(A) Iceland .
(B). Malta

(C) .Japan

(D) Belarus

- If in a code language, 34687 is written as

43778, ‘how will 47592 be written in that
code language ?

(A) 56683

(B). 55683

(C) 55738

(D) 56873

If ‘man’ is called ‘woman’, ‘W:Jman,’.is
called ‘boy’, oy’ is called ‘girl, ‘girl is
called ‘pilot’ and ‘pilot’ is called ‘child,
then who will fly the aeroplane ?

(A) Pilot '

- (B) Girl

(©) Child
(D) Man

On the basis of the following analogy,
choose the correct option.
Prediction : Future : : Guilt :_?

(A) Present .

" (B) Misdeed

(®)] _Past

) Repent

25.

26.

(4)

27.

(B)

If 0% January, 2023 was Monday, then
what was the day on ond March, 2023 ?

(A) Sunday

(B) 'I‘hursday

(C) Wednesday

(D) Tuesday . -

Manoj ranks seventeenth in ‘a -class of
59 stﬁdents. What is his rank from the

last ?

17
(B) 18
(C) 42
) 43

Choose the diagram that best represents

the relationship among the given-classes :

_Engineers, Accountants, Professionals

(A) @O
O

(11-A)
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 wRAR?
. (A) T
(A) LION
(B) &% 4w
(B) NATIONAL
.(C) DEAN (C) v Ft Ht
(D) NEAT : (D) Wi 3o

29, 3 31 1 100 7 A W Tt firgd §, |32 FHTHR R 2

at feceft wm 7 ford 2 o
(A) = favem
(A) 20 | \
- (B) bz '
(B) 21
©) 22 © 3 |
(D) 19 ' (D) 3MA-GW 1 e !

33, “Gur w1 o ad F wEEW w Ay d

30, ‘DR’ @ wEy “aﬁq‘]’"ﬁ s W .
T 2 7 v fem & 9

el wEEy__ At

(A4) 7. | &) e

— (B) Wl

© v (C) W

(D) W | (D) #eR _
2RSP3/11/2023 o (12-A)
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29.

30.
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Which one of the following words cannot
be formed by using the letters of the word

“Educational” ?
(A‘} LION
(B) NATIONAL
(C) DEAN

(D) NEAT : :

If you write down all the numbers from
1 to 100, then how many times do you

write 77
(A) 20

(B) 21 .

(©) 22

D19

_ “Berlin” is related to “Germany”_ in the

same way as “Jakarta” is related to

(A) UK
(B)- France
(C) Indonesia -

(D) Malaysia

31. From the options listed below, identify the

|32.

33.

(13-A)

- (A)

barrier in communic_atin‘n.
(A) Disinterest

B) Clgar message

(C).

Lack of confusion

(D) Physical comfort

What does an interview imply ?
Data analysis

(B) Observation .

Co’mmﬁni{;ation .

(€)

Face-to-face conversation

(D)

“Communication is the transference and
understanding of meaning.” Who gave
this definition ?
(A) Robbins .
(B) Stewart

(C) Taylor

(D) MeGregor

https://www.pygonline.com
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(D) =a9_KR
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35.

36.

37.

2RSP3/11/2023

(D)

o7

’I‘raihing in Brainstorming signifies

(A) Decrease in creative problem solviﬁ_g

*(B) Increase in intelligence

(C) Neutralising of creativity

(D) Decrease in intelligence

From the options listed below, identify
which one is not a communication skill.

" (A) Active listening

(B) Empathy -

{C). Complexity

(D) Open body language

Which one of the following is not a
component of Emotional Intelligence ?

(A)
(B)
(€)

Self-awareness
Self-motivation
Conflict representation
Social skills

What is Problem solving ?

(A) The ability to identify the problem,
cause of ~the problem, analyse
solutions and implement the best

" solution.

(B) The the

of

over

ability to describe
traditional knowledge
communities  accumulated
several generations.

The ability to help two parties to
resolve their differences. ,
The ability to read books and

give/provide comprehensive and
detailed information about an issue.

©

D)

(15-A)

39.

40.

38, Which of the following is not related with

Social Networking ?
(A) Threads o
(B) ' LinkedIn

(€) .

Instagram

(D) eBay

Which one of the following options is not a

part of conflict process ?

(A) Potential opposition or

incompatibility
(B) Intentioﬁs
(C) Mqtivation
(D) Behaviour . .

Which thinker said, “Non-verbal elements

are more important in communication” ?
(A) Bandura

(B) Mehrabian

;I(Ill Ellsworth

(D) Carl Jung

https://www.pygonline.com
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Questions No. 41 - 45 (Based on Passage-1)

41. Developing an

Passage-1

Stress plays a significant role in

physical diseases. Hypertension, heart -
disease, diabetes and even cancer are-

linked to high level of stress. Therefore,

_knowing techniques’ to manage stress is |

very essential.

Relaxation  technique is an
important skill that reduces symptoms of
stress. It calms the mind and relaxes the
body. Deep breathing is used in this
technique. The yogic method of meditation
" of learned
techniques for refocussing of attention that
brings about an altered state: of
The biofeedback is a

procedure to develop awareness to monitor

consists of "a sequence

consciousness.

and reduce the physiological aspects of

stress by providing feedback about current
physiological activity. :

Creative visualization is a Subjectilve

' that

Cognitive

techniques are meant to replace negative

experience uses Imagery and

imagination. - behavioural

and irrational thoughts with positive and
rational ones.

awareness for

physiological responses is known as
@) |
(B)
(C)
(D)

Visualization
Learning
Biqfeedi)ack

None of the above

2RSP3/11/2023

the

42,

43.

45.

(17-A)

(D)

(A)

(O
(D)

Subjective experience that uses imagery is

(A) Cognition

(B) Personal experience
(&)

Emotion

Creative visualization

The approach to replace irrational
thoughts with rational ones is called

(A) Meditation

(B) . Cognitive behavioural technique .

(C) Creative visualization

(D) All of the above -

'Wh_iéh technique is used .to calm the

mind ?

'Relaxation technique
(B)- Biofeedback |
(C). Meditation

(D) Courage

Refocussing of attention could be done by

which of the following techniques ?
(A) Relaxation .
(B) Meditation

Change in personality

All of the above
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Y97 G. 46 - 50 (HaAA-2 G T4

HIAW-2

asft i, wrerd qen s iRl

T a8 gt € | o A ooa & d @
. Yaua fR S, @ 98 e B i w6
HHT H g B R | T S VW FWE 5,
A WE-YElE § gl w § qur Free @)
yoifed Ra € | 3 qe arsfifere e Ieqw o
Hhdl & 3R TR Froare ) @ue = w2 |

W favln, wg0 = @ F Fw o,

Fraw & ofton 1 spE = oaEm 2,
e Fron g0 ofvh . & @ o gl
fremer =t R # | %8 T @ weww @ 1%
I4%F 7@ T T e | G 9% W S
=afe & fore g R o Swraw e ww 6
Ty % fg =afs & wdfan i 3§ 9w R,
A aftfa w6 & fre GRE v w1 3w R
EIGIN ) {@H F =y (diétress) 7
wRafdd & 9 A wET wh R | e g
WG, Al st § TR Wi % Shlsfief g1
. HRV BN R

46, FEA I W H T & SR FA L
(A},'Sﬁﬁrﬂqﬁ:l”q?faﬂ(
(B e o B 3
(C) g&s W[ #i 3l

(D) I gl

2RSP3/11/2023

47, v, fafafen © @ e g sem qa'?sﬁm

48,

49.

50.

(18-A)

37 :
(A) - gt

Al

(B) €7HC
(C) wfew uRfeafal
(D) TErAl

TR R

&) whEh o

B) W&

GREE

(D) 39w 4 A B

feffas # & @ & ok TR 9
Sot-3fiof e 8 2

(A) IRE

(B) =1 (distress)

(C) M= 3919

(D) Z&H a9 7= St

91g1 T FR §7 Tl
A) F=r i =

(B) ¥=% figon 1

(C) ITRTREN W Y yu1g 78t
D) a:ﬁﬁmwlﬁr{a'ﬂt;aﬁzﬁm -
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Questions No. 46 - 50 (Baséd on P&ssage—2) '

Passage-2

L1

All the challenges, problems and

difficult circumstances put us to stress.

Thus, if handled properly, stress increases |

the probability of one’s survival. Stress.
gives energy, increases. human arousal
and affects performance. High stress can
produce unpleasanf effects and cause our
pe'rformance to deteriorate. Conversely,
too little stress mﬁy cause one to feel low
on motivation, which may lead us to
perform slowly and less efficiently. It is
important to remember that not all stress
is inherently bad. ‘Eustress’ is the term’
used to describe the level of stress that is
good and is orlle of a person’s best assets
for achieving peak performance. Eustress,
however, has the potential of turning into
‘distress’. It is this latter manifestation of
stress that causes m;r body’s wear and

tear.

Too high level of stress leads to
(A) High perfurﬁiance
(B) Low pe;-t”ormance
Pleasant effect

©

(D) All of the above

417.

48.

49,

50.

(D).

(19-A).

(A)

Stress is not generated by which one of

the following ?

(A) Challenges

(B) Problems
(C) Difficult circums‘tances

(D) 'Resources

Eustress is

(A) Sometimes good
(B) Bad |
(C) . Always good

(D) None of the above

Which of the following causes wear and

tear in our body ?
_Eustress

(B) Distress

(C) Normal Effect

(D) Both — Distress and Eustress

Little stress may cause

(A) qu motivation

(B) High motivation

(C) No effect on motivation

Both high and low effect

motivation

on
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'51-I?Tﬁ‘+’ﬂﬂaﬂf.‘+’,‘+’ﬁ»’r3ﬁi‘—’,‘—’Wéiﬁf“x’ 53. XoRYQAuEd 1B Am R AMA XA -
i R @ TR IBHR YR FGEU R ?
12+64+3-2x8="7 A) T

1
Wey (8) W
(B) 9% | (©) W
1 (D) o
(© 97
"(D}Q% ' : “ 54. ‘sie f9E yeR §=Am @ 9w ®, S
| ' . R T = 4 & feme s g 2
. . (A) e
52. P 3 & F ol i, FRIE i |
ot 3 i e i & 7 B) o
: (C) JAAYH .
(D) foem
Qo
' 55.. A fou o fosedl ® @ fowm g |
- (A) T
© @) |
' (B) wafl
. | ©
_ (D) &R T

2RSP3/11/2023 - "~ (20-A)
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C s} €3 L
¥

51. If ‘+’ means “+, ' means -, “” means ’| 58 ¥ and Y are two brothers. Bis the brother

d ‘x’ ‘+' th '
and x"means n . of A and A is the mother of X. How is B

. 12+64+3-2x8=7 ' relatedto Y ?
@ 8% (A) Maternal uncle
(B) Mother
1 : ‘ ,
B) 93 . : (C) Brother
1 (D) Father
© 9-
4
1
(D) 9= . , - .y
2 : 54, Just as ‘Court’ is related to ‘Justice’, in the

same wlay ‘School’ is related to which of

. | o
52. Which of the following figures shows the the following *

relationship between tables, chairs. and (A) Class

furniture ?
. (B) Student . .

(A) ' : : " (C). Teacher
E ' (D) Education
: X given below.

(©) @) . , (A) Aeroplane

" (B) Bird

.(D) (C) Tanker

(D) Aerial umbrella

55. Select the odd one out from the options

2RSP3/11/2023 . (21-A)
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B .
56, fou g fredt # F wafig wwar aren wee |69, g wen i ;

e S |

19, 21,23, 32, 34,7

I B G 7
(A) ™ (A)- 43
(B) woddl ' (B) 37
() =« © 36
(D) W )
(I;J) 42
57. @ % g e A IR
ABC, GHI, MNO, ?_
(A) RST 60. fogw wen s Aifvre :

(B) STU

(C) PQR s
_ - [ 4 16
(D) QRS R - i-?/r

B8, wﬁ%ﬁnﬁﬁ%zﬂmwﬂ 16 arfta 2,
a Wt w®H % Y TR e wie

@Tﬂ ? 1 . | ' (A) .8
(A) 25 | '
(B) 24

(B) 26

- 0 30

(C) 27 ©)

(D) 28. : . D) 32
2RSP3/11/2023 (22-A)
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56. Choose the word with related similarity|59.

from the given options.

Rooﬁl : Floor : : River: ?_
(A) Bottom -

(B) Fish

() ;Whale

(D) Water

57. Choose the miss;ing. letters of the series
ABC, GHI, MNO, _?_
(A) RST |
(B) STU
(C) PQR

(D) QRS

58. If 16t is on the third Friday of a month,
then which date will fall on the fourth
Tuesday of the same month ?

(A) 25
(B) 2

(C) 27

(D) 28

2RSP3/11/2023 (23-A)

60.

Find j:hé missing number :
19, 21, 23, 32, 34,
(A) 43
(B) 37

(C) 36

D) 42

Find the missing number :

4516

@

(A) 8

(B) 24
(C) 30

(D) 32
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62,

63.

65.

(A) duft -9

mﬁﬁ&ﬁ-

(C) T& -
(D) 9 ~ A

i femd® g g ;
WMwmq%
(B) hm —ahF

(C) 3w —WgH
(D) 9 —3fa

61, friian 3 & e v g B

e v o Pl T 2

(A) "l
(B) foa
(C) it
(D) f=

% i fets v

(A) s

- (B) e

C) =

(D) 3.
et 1 2 wd v g oG -

(A) R -T"
(B) @9 —geft
C) s@a-w
(D) & -am

2RSP3/11/2023

66,

67.

68.

69.

70.

(24-A)

‘FErE e o e & 2
A) Fob s v= @l

(B) - ¥4 U% g § 3 2 fieed
(C) T o o B

(D) AP T

‘A’ ST yEigaTE e ;-
4) W«

(B) fayqm -

(C) e

(D) e

"wgT i e 7 g
(A) st
(B) 3w
C) ®

(D) TEA

‘I 1 A R
(A) S SR |
(B) Wt & |
© g Ag|

(D) NFSHAR |

‘@ ol i ww  guh v § v
W T R g ?

(A) T e

(B) FaieE

(C) 9]
D) erres
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71.

72.

oflo

F-41 T U TR ?
(A) TEE -
(B) @R - V&R

(C) W —WEd

(D) T -

‘q&a’%aﬁmf%w 7T am:

(A) T@

“(B) &

- (C) wEdrsl

73.

4.

75.

o & 7

frerfafes § @ e a sifew :
(A) o, 78 SRA = |

(B) T & Se-E WA R |

© Rmwen |

(D) ‘g, & 3R 3 e |

T T JH R

(&) - i

(B) W — ot

(C) g -3 |

(D) o -vE

‘37 %G, I IHIYR Weq B ;
(A) 39
(B) 3@

C) 7=

(D) whede

-2RSP3/11/2023

(25-A)

76.

1.

78.-

79.

80.

QR wreE 1 qaigarEt @t 6

W e

(B) @1=

(C) &9

(D) 7

‘oz i R o T e A T A
&

(4) fowan

(B) @HaT,

OR:C

(D) 34

Gﬁﬁ?ﬁmﬁﬂ?gmﬁﬁq:
(A) Y -

(B) T — TN

(C) W —gm™

(D) 3gfeh — g

ger wreg 1 faam @
(A) T

(B) g

C) &

(D) 3UHR

i’ g T A §
(4) deff
(B) Thn
(©) W
D) ©
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, T o | o wnfe ot R wew R R
e % T a1 @t & s S I ATl e

¥ T | I @ R S el P
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81 el % e o W e e e e 2 2

82.

83.

84.

85
(A) SM W
(B) W w
(C) WW
(D) 3@ W
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(26—A)

- % T 2 &

*) foremem &y

(B) o & WeAE
(C) Tohiy st .
(D) ¥re-=IRVT ST G eft-ref

- el e 2 2

) ﬁaﬁﬁaﬁﬁa@%m' |
(B) e 3 avemwe & w |

(© aﬁﬁméuﬁwmm%w
(D) T i %

- IEed Y TR TG T el AT B 2
@ Fem

(B) T

(€) foreafearer

(D) e

: o T R 7

(A) T

. (B) ©® A

(d) Tl e
(D) < M
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(A) i
@) e
(C) wHR

(D) afER
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87. sﬁmﬁmﬁwsﬂaﬁﬁaﬁ%?

(A) ftsm

(B) sfered

() g

(D) T

88. ¥ T 1 I ¥H A
‘A) =t o

(B) wyd! 1 TR

(C) T @ FerH

(D) ufem : WHAA I Foll

89, wWywedl frw T e TR FA & ?

(A),g{@ﬁgﬁum-
(B) Fﬁ%mﬂ@-@iﬁmm
(C) TH-gA T URR & T TEh Fh

(D) i W HEU

90. i e M@ w2 ?

(A) BT |
(B) wityw

(C) &

C (D) fm
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